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e 0000 pi, 18 0000 =000
e 0000 pi, 14 0000 =0000
e p8, 15 00000 =M - »n000000

e p.9, 1.3: heat transfer rate = thermal conductivity
Du - Du

"Dt 7 Dt

e p13,010: DOOODOOD =000000

e .10, Eq.(1.23):

e p13,112: 0000000000000O0O0O00=000000000
e p.15, Fig1.3: (b) 000000 = (b)00O0000

e p16,13: 00000 =>000000000

e p16,16: 000000000 =00000

e p16,19: 000 =000000000

e p16,l4f: 00000 =0000000AO0O0OO

e p17,15 O00D0D0000 =000000

e .25, 191 OO (8f/0t<0) = 00O (8f/dt > 0)

e 27,113 000000 =00000000000000000

e p28 151 O (223)0 fi=j =0 (223)0 f,=0

e 30, £q.(3.32) 00020000 f; = 2f;

e 30,161 2-¢’ 0000 =20000000

e p3l 18 0000000000 =000000000000

e p35, 15 O0O0D0DD00 =00000

e p5l, 141 O0O0D0DDO00O0D00O0O0OODD =0000000000000000
e p62,1568 000 =00000

e p66,111: OO0OD0D0 A =00000R

e p.66, £¢.(3.51)0000: AtAG = AtRG
At
2

e p.67, Eq.(3.61): +du = +iu*

e p.66, Eq.(3.52): (B3en—-cnt) = +%(3An — A1)

p.70,13~4: 0D0O0OO00O0 ==00000000

p70, 0011 —-1>z2>1 = -1<z<1



p.74, Eq.(3.86): 00000 ™M OoOoOoOoOO00
p.74, 171 O (3.83) = O (3.86)
p.76,16~9: 000OOODOOOO---0000 =000 ---000000

p.77,115-17: 00000000000 ODOOOODOOOOOOO0OO0ODODOOOOO0OOOODOOD
0000000000000 0000000000 =0000000000000000 (3.94),(3.95)
gbooooobdoboobobooboboooooooooboboooobobooooooboboo
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p.80, 131 DOODOOO0OOOOO0OD =0000000000

p81,110: wtl =P = prtl=p
p8l, Eq.(3.108): > =)
k

m

p.84, Eq.(3.116): ]H%’j = ]m'+%

p84, Bg.(3118): 2000 10000 uyyyjp1 = vigy 2
p.84, Eq.(3.118): 200020000 Az = Ay

p.85,16: 000000 =0000000

p.86,L7: 0000 =0 (3.121)00

p87TO7000: 2 = v20tilde 0000

p.88, l5~6f: 0O0000O0O00O0O0O0OO0OODOOD =0000000000000000

p.88,11~21: ODODOOOOO0OO0OO0OO0O0OO0O0OOODODOOOOOOODOOOOOOOOooOooOoODOOD
booobb s000obooboboooooboboobooboboboooboobo

p89,113: 00D00D00ODOO0DO0 =0000000 20

p.90~91, Egs.(3.134)~(3.139): [J = [JOODOO overlineJ 00000
p9l, Eq.(3.143): v = 002000

p.91, 1.21: Upp1j = Uil

92,00 11: 0000000000000 =0000

p92,0012: 000000 =00000000

p93, 141 uwf0000 =wf0000000

p94, 1101 OOOOODOOODOOOOOOOOOOO0O0 s000D0000000O00O0O0ODODOO
oo

p96, 161 00O =0000

p97,14: 00 =0000

p99, 0 311: €, 0000000000000
p119,010: OOO0O0O =000000
p.121, 1.101: Ui 1y = U

p.123, 1.5: Vijyl U

p.123, 110:  [v¥);; = [©Y]ia

p123, 111: [§,v]i; = [0yv]in

pl127,13~4: OO--- J=+/g0000 = 0000



p127, 00 [21: UYU,V,W)00 = UWU,V,W) O

p127,0011~2: O (45)000.---00000 =0000

p129,12% ~ p.130,11: OOO00 .- 000000 = 0000000 (4190000000
p.130,13~4: 000000000 ---0 (421) =000:0 (4.21)0000000

p131, l4~5: O (4.27)--- 000000 = 0000

p132,13~4: 00000 (418)0004200000000000000000 JUY =00000
(418)00004200000000000000 JU*

p132,15: 000000 =0000000

p137,147: 00O00O0DO0OOO0O =0000

p.138,116~18: 0 (449)0 --- 0000000 = 0000000000

pl42,0 (457)00: 0O 457000 =0 (4.56) 000

pl44,19: 000O00D0D0OO0O0OODOOOOOOOOOO0 =0000

p.144, Eq.(4.64):  6¢(JUTE) + 6,(JVT") + §c(JWa") = 6¢(JUW ) + 6,(JVE; ") + 5¢ (JWw; ©)

p.145, Bq.(4.65):  6L(TT “u) + 8,(TV "u) + 6L (TW "u) = 64(TT ) + 6, (TV "ug) + 6L (TW “wy)

p.145, Eq.(4.66): Tdeu® + Voyu' + Wocu® = Udeu;- + Voyu; " + Wocu; -

p.145, Bq.(4.67): U 8fu+V "8hu+ W Su = U Spui + V "6yu; + W “}u;

p145, Bq.(4.68): JUoeu® + JVoyu’ + JWocu® = JUdgu;- + JVoyu; " + JWocu; -
.145, Eq.(4.69): % = “7
pl45 147 Dw0O000 =2 0i=10000000 w0000
p.146, Eq.(4.75)00: ok = w*
p.153, Eq.(4.100): [J = [JODOOO overline 00000 O
p.160,11-2: 000DO0DO0 =000000
164,113 u=v=w=00000 =u* =0 =w*=000000000 x00000
p.167, L11: du./v = 6U.Jv
p.170,16: 051000 = 0 5100000000000000000000000
OT; )

p173, Eq.(5.25): |D|,|W|, |w| = |D|,|W|, |w| 00000000000000000000000
000 (5.30) 00000000000 700 Smagorinsky 00000000000000O0O0OO |D|,
W|OODODOODOO0O0O0000000

p174, 00 121 w) = O
p 178, Eq.(6.5): ujur = (u;ug)

p.178, Eq.(6.6): w;ur, = (u;uy)

p.178, Eq(67) %(—Ti]’ + 2V§i]’) = %(_Tik + QVEik)
J

p.189,17-8: DUOODO0OO0OO =000000

p.190, L71: e "B = exp(—kB)



p191,117: 00 =000

p194, 14%: 0000000 =000000
p194,111: 0000 = 000000

p197, 131 k=xy>®¥ 000 = koxy** 000
p199, 151 00000000 = 0000
p.199,14-57: DO00O0DO0O =6.100000000

p.201,17-10: 030000000000000000000000000000000O0000 =0
3000000000000000000000 k%%/e0000000y, 00000

k3% [eyq  (6.82)
0000000000 [2700000000000000000000

p.201, 111-12: O (6.80)~(6.82) = O (6.80), (6.81)

p.201, 171 00 =00

p.202,161: 00 = 0000

p.203,115: O00O0DO0OO00 = 000000000 Juyiu

p.203,16-71: ODODOOOOOOOOOOOO Jpyy, 000000000 J; 0000000000
oooooobooooooon

p.205,012: OO0OOOO0O =000000 k0000000 O0OOOOOODDOOOOOO
p.209,19-101: ODOOOOOOOOOOOO ==00000000D00

p211,0 74: ODODOOO0OOOOOO0 =0000000

p.212, Eq.(7.14),(7.16),(7.17) 0000000 20: + o +i
6Ii 6Ij

p.220,16: 000 GSOO = SGSODO

p.220, 112~15: 000000000 .--000000000 =03000000000000000
p222,0 7.7 0000000000 =0000000

p223,078 0000000000 =0000000

p.223,0 78: w,u,u = E(u), E(u), E(u)

0 = 0 =
p.224, Eq(753) +a_l‘i(_Tij + 2IJD) = +8—:vj(_Tij + 2IJDZ']')

p224, Eq(7.54): D = Dy

p.225, Eq.(7.64): D;; = |D|

p.231,11: 0000 =00000

p.233, Eq.(7.94): S = |DJ?

p.234, Eq.(7.100): (D2, + D, +D2,) = (D2, +D;, +D2)

p234,l4~6: 0000000000 DOOOODODOOOD |p|ODOoODOOoOoOOO
= 0000000000000000000 |p|0000d0ooOOoO0O0OooOOOOLoLoLoLooo

p235,0 79 00O00OO0OO0OO0OO0ODOO0 =000000000000
p235,00%* [1: 0000000 =00000000
p.264,0116 OO0D0O0O0 =0000000

p.272, Eq.(B.63): |v|(k) = |v|(k)



